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i2=-1, (0%, ®, 1) are the cubic roots of one .

(7 . ,K)are aright set of unit vectors .
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@ The fourth term in the expansion of
(x+ %)4 according to the descending

power of x equals ........

Sy SR
P ()
.................. & sbaw 23510
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c(Vet=Y)=Tp

B =(7.2,1) ,then A.B -

® i -4,1) , B = (7.2,

IfA =(2,4,

'\_é (\ Y cV)= <
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does not included a term contains x3 T S detdy b e g5 Y
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Prove that the expansion of (x2 + ;)
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@ Find the volume of the parallelepiped ad gl 7 ghaud) 6 ) 52 (> o)
in which three not parallel (adjacent)
sides are represented by the vectors :

A=(3,-41), B=(0,2,—3) and
C =(3,2,2)

(3)5\te) 5l g2 b Byl 535
c(\ &- LV) = T UW\ W

(YNEE(Fve) T
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@ The number of ways in which 4 cars parks
adjacently in the parking area in a form of

a row that contains 10 places for parking

Byglate Dyl £ 589 O b sus
o S e jlasidsl B
S5y oS- gy
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@ If Z=—5(cos60° —i sin60°) , then the KA (SH]

principle argument (amplitude) of the G O L &

number Z equals ............ & ouall Ll dadi o
.................. 63\-“-’

@ 60 ® 30° Q@ @
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The length of the diameter of the sphere

whose equation:

3x* +3y* + 32> + 18x — 24y +12z+ 3 =0

.............

length unit.
b 47
@ 12v29

ledslae 9;5\3;5\)!4;3}39
BALR N AR
AR AL
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@ Without expanding the determinant , Prove that : O el samall &6 & 5y

x x*4+1 (x+1)>? G I P
y y2+1 (y+1)?|=zero ST ) e P
z z2+1 (z+1)? 0re) e g
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The measure of the angle between the two
straight lines : L, : ? = % Ly =1

Ly:7 = (=1,2,—1) + k(1,2,—2)

Oxositnal) po & 510 (L3

N,
Y-

v
(Y- ) S+ (V- ¥ V) = 7
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@ Answer one of the following items:
(a) Find the algebraic form of
the vector 4 such that: || A || =5 units
and it forms with the coordinate axes

angles of equal measures.

(b) Prove that the triangle ABC is a right.
angled triangle at B such that A (2,-1,3),
B(-2,5,1)and C (4,4 ,2).

Fvip (RO PV TR ER R PWE
T il & i gl |
lamg 0= Pl
S ol s,
B B & sl sl Ll g )
o > o Pedadl ol el -o
e P2 RN W
(YN -¥) Pl

(\‘ %3 ci—).>: c(\ 0 cv—) <
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@ If 1,w,w? are the cubic roots of one,

sodedl o (T ) 31813
o) 5l 4N

1) (@) ok

v,
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@ The length of the perpendicular drawn from dagdl o oyl 39eall sb

the point (2,3,1) to the plane : () ¥ oY)
2x-2y+z =5 equals ........... length unit. 0= + 2V — ¥ sl J)
Jjja BJo-j ...... e
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if Z=1- V3i , then the exponential form
of Zis ........oo......

awax\&ga?\,-u&;)\f\sg
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@ Use the multiplicative inverse of the matrix Ao s $Sad| plasl,
to solve the following equation: A5V Yl Jo B sanall)
2x — 3y —z.=9 V=g -7 -
, X+ 2y +3z=15 AP AT ARty
, X —2z =12 Wep¥— e
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@ Prove that the two planes: O sl O S
3x +6y+62=4, Esp ittty
X +2y +2z=1 are parallel, IR ARNSARESX
then find the distance between them. Mgy dadl 15 O ) 920
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The direction cosines of the vector

A=(2,12)are ........

@ (2.1.2)
® LLD
© (s

3 2

ooV blg ) luld ples s
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The equation of the line of intersection of O el &\.o.: Loz dolae

the two planes : V-=f-p2V - V=T - f

2x —y+z=1,x—-3y—z==2 v

1S,
x+1 vy z & e Vo

@ =373 N O)
X1 Y25 o-F o N\-u

@ 1 -3 1 v oo T T @
x-2 _y—-3 _ & v Y-

© T3 <)
X7l _\Xahee7 A S,

@ 4 3 -5 o- v ¢ @
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Answer one of the following items:

(@) If Z =8(cos30"+i sin30") ,write
the cubic roots of Z in the exponential
form.

(b) Find the square roots of the complex
number (=5 — 12i),

RO (R RV [ENEN PN

O 13|

(Yot v ) A=
33l daS ) 93l S|

EWANESIWAIRE ¥ S

i

a3 (el sl -0

(&sVY-0-) sual)
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